Pusiseh Mﬁimj |
Leokiin : |
J dhe Senefit Bhe pcafioctiact%

W e M ’&’&(’ﬂ LNAE




‘Qf/ﬁlepmhi% !
ﬁgxﬂmiigewwmdwmpéw
case IE B Lalled a gingle pogermi
Annual potermium \
The Lost of Jerofth ue paid iy epueal
yearly installinest #Mﬂﬁel&ﬁﬂmﬂ%
posgalble 0t Jha fimo of cleath This indballment

Eﬂdgﬁwﬂfmf AL UL
Tt s tombeunalon 6f Jimpousy

WPWVQ,M o asswtence of
iun;ﬁvfd:lfi,splaﬁié%w byﬂeggﬂb@w{,

AQ(-'.I"I_] = __}_T‘{ C‘-V-Og?(.’P_VQ‘JOC-FI_”\/BO(QC*Q-}—“:}_VZIX‘H’)
iq\* = AV Lasn =20,

P,

RN NPRVE YA ..+v”a{,+n_\,?f
z} A%:’)s:‘%‘ o{\/&{?{*}‘\/ OZOC’FI N+ 2 |

+ L v dxrn
Lo

{
-.z)- Aqg :ﬁ] = Alg:'rﬂ+ Ax:—ﬁ] puse Erelowrescl.
Ter~porord

Puww gndowment assuwtanie:
wriden this assurance dhe Bum

o ' U o postsen Suwivebs «a
Wﬁ %{/g Pﬂf;ﬂefle value ﬂDZ puste
déé& WL 7 a/;/@ﬂ»& 20 (%)
B/W’wﬂi oaSurane ef & F




Jhare

“n’ %ea,% WL

A(Z;T)_'] = th Vﬂjz'rh ___,>@
.4

Toulsls Endowmerd poliey Asswante

VM@&MWW&%&%Q
W@ﬁlwgwﬁnw

= Alx:?')—] ”—& A’)(,.'.)’T]
*AdH] AR+ AT

:A%:F] - AQ( :—[)l]




(?%‘%C"A’ Jersmn  Endowsment ¢ Nmrwu,'a.g,a,_,{-:ndpwfnﬂv‘_:)
, undit Jhis apsunana  the benoit
L8 puya,b& @nlg at end 6f Avim Solecled,
whether M%ﬁ assurte  is alwie os net.
7h1%ww¢bwhz@fﬁqm$ip%ﬂb

ok e end ©f n’ year > IRV

The PW \/M @ﬁ M }QM&B‘UZ
by W ‘,&ay Alﬂ = v’

.fgmrrwlm@n “gunaﬁom % ualo Iotwr aedu 1'?17'3 proopac
Dy, Cx, Mx 0rd Foc:

=l Commutalon '—gz,mcﬁ:on Do

.SDQ( - \/‘l),< VQI

=5 Commuitation '?méf/(:or) Ce

«
Lo = v +l?<af;(_

=) commudalion f§urxaﬁfon Mo
The cornmuitation ,ﬁima’ibn My L5

U}&M .luj gu{mn&'z dhe V—a;&,w (ﬂﬁ Cot -ﬂ*"‘om&lg«@“-
upts e Jumilug  Age 6f Ahe LAl . Tr Gendstel

Mg = Cop + Cxrrt Cxra® - _fo.ﬂu@,uh'”ﬁt,i?
age fo the Lalle .

" Moy = Cor + Mot

= f,omnwjfaﬁbo JjUﬂdﬁbn B
RPor L pltained sy /Sunm:ujj dhe
Valuth L{ Mo oo age 7 U_P{f“o Jhe ,LT/m,E'U’Ijag&




- aear P——

A

In %@M +... to b
+ Mo+2

4+ Mo+l
P Mot %

age of Hu T

s I,
} V\,\,\,\% g
Wdﬂt A')C ) = "“"‘ { v '*'Vzﬁix-n’tn T V%#;

rallply and dided by v

=
5 b
A o] = \\// {qu:-i—\/‘o‘drxﬂ +VHy ot Y alwn-{j

1
Ain —}’\ﬁfm{\/md PV gtV oV d“”“J

!
= {Cfx + Cotey + Cowg oo Coc;m-&
KX

\l

= -E@%"— o1+ Copat o) (Crl_,_h—)— (9<+n+l+“§

|
AX-‘W = Mg —Moyn
Dy
=y whele e amwione
Considen,
A%-’-

J
/E% {) Vd%—}-vzd;g'i'l ""V'Sdg(_,_& +. ..

= v
v

Vo V2 o0y + VEAA+2T -



V’,

73
°€ VU + VT o) +V A prat }
v“jx

- ;‘Df;( {C%‘F["X-f—l + Cxpa+- 5‘

L § Cxt Cocrt + Cayg T 3

DAAD
D
2ot gV 8olpe+oT TVhﬂ[?t-H)—l

/4')6—7"'——{\/019(* -)-V”Jr;(-rj
MUWMM@V v o

Ax ] =

Aq:p] = Y - {Vdr;c oy 2l V2T + V' elotan-1
v"flrx +V”J«+r§
;- 243 | A+h
A'K.‘H] VE "L“ ’XHA + V" d'z-:—:"'v A2t TV s
VQ(J.()C ‘/’4(—}'
e

= 1 g(c,x.,_ Cotrt + Coxrg + -'--""v59c+n—:_)"’f Dx-m}



= o . {Mx‘—MOH'n T Dot

N

= _ + Dot +h
Ay o = Porn - 777
Do

WWJ’?C%'.
-+ Double Endowriants g0l

!
= A'X'r-ﬂ + A?(ﬁ_]

= My @ Moetn + Dn | DN
s S
Dat b

- My~ Maon + & Doyan
s
Dat
oL
mowafrmj feerO’W”d H

I
(—LA)rx:Tﬂ - ix I_—vdx-rzv A+

Nwlilf:le and divided bBY y*

o« : 4 nv dy4n-1
oY o l 2 (.. +avidasat- .-+ ]
(..L A) o T = \il VO{')LTZV O[X'H

Vol

n “

%‘Tl i—* A + ‘)’nV n
o) 1_]_‘2\, cfot+1+gv ey

= L [Cgff' ZC%_’_' +3C9(+2+ ‘rnC‘X-H')-]

e +(n+1)C j
= 1. I{Cujgcxﬂ-ratqul"" NCorin-) 9(+n7f/

- 3 (731 Coyn + Cn*UH

/T
nt
e+ Corpn™ NCoxany- e Lot

B~ s h s Loprmoy) B o Coint!
'D% [ o Q XN T Cotspy Cotrn g ot } ~$C9(+n ﬂ
+2Cxrnse’



[ L Rx =1 Mz, "’?x-rﬂ
Da |

= Ry ~Rutyn=NMyin

Do

’”Wj Wwhole As53wrare, -

[_LA)Q( ='——' l-g)\/‘d’g('f— .2.V20P*;(-H+3V G(?C—} + 3

=

-—‘—_'.‘. g\do("f‘zvzolx-f-l'f“svsolo(-)-z‘}‘-:}
th‘x B IR

\

IXl {V')H'éb(,i_‘g_v dq+'+3v2+3d'x+2 }
VoL

a Ml {09(+'«QC9(+I+SC’X+2+ ?7
of Rk

= Rf)(
| Dot

< g h
The folowing  Pascticsdost oo Goe

A 25 o% 2% |28 |29 Bo |

s u-«

95887
! D bln
U | 7696 | !
/{ 7088 ; k| 309_’ 304[ 313

Qﬁn!vQES
Laloulode Jﬁhﬂ%ﬂ?’ﬂ Snfoust wand xpenses
R The valud ©f ;?LW WW&@%@[OOO
bgaﬂoz%ew%gwa;w{/wn B
i The value of ﬁndomﬁjj%%
%QJIDOOW«L}WH Erdourmert o)
jity The value ¢f AWPWjﬂéWMM
fgboo,g,w“a PoLeN a,gzol K
D ) ‘
Qﬂrumnj@% Qg

,E,X q1380




B

i,
“"’ﬁ“

n: ' X
go; _— mf ﬁ Iﬂf’f’o assutance %A’Ooo
! , 17 o ¥
posn age 7 s lien 4
ost 2 yearts Jos 2

Ll endﬁa.l ‘b’m"’“"/la -
| i
Ar)(:ﬁ_} :IL {’VAQL'}' ng,?(ﬁ—l’}" . T \/nofr)(fn_,j

o
b s - \\/’
. gnose Untesest (1¢)

Ax:mp = _L {dg{—w/"dg{w*- - -+d%+n—|}
Lot

A 5+0€9_1,
A

2

£2 49{. o) }—’ [yt ‘%26\—}

|
1000 A = 1000[:249_+2‘11+J
25% 2 e MR
] 97330

IDDDA,IX_.F)') = Lmoo)i

ot ancwiance denohd

ﬁ}me valus % Ehcﬂowm%o o PeAEOn @ge oh

of T I0o0 fost b Yeats

n .fv"ﬂ +n
Ax;m ':"'_:(‘_,9:' {7\/5{')( +V9‘qyx__’_p"f"... +V O[Q(-f—on_] * 3(

N=25
he 2t ' | +d
= 1066 59&5 *'Ofgze +a(§7_+a(&8 C K3
’@&5
— 1600 [&‘I& +A94H + 298 —/-Boa-rclbreijf]
97330

1580 J
= (000 -————*q%%%o



—
= 1000 ] 17

- [00D

b The Valiw 95 o pwte  Epdovstrent &f —Eéfoo
Jost A pestsen aged g+ Hecewakle o

a,%& 20.

n
Ax:n] =V _loc-m
Aot
600Aa7;'3ﬁ = 600 X J_go
Lo

96F L

= boo X 0.9906

= L. 3T+



19
Net Potemium  Fost asswrante Plans =

Nalisial potemiums  based op ew! cemoant
T4 may not b pos tlsble
po450ns W }:ow,uy Lnsustance Pj;fg“wzg:gh
b Py —c&cngﬁa pstenuum
(ie) A Lump Swm contrbutien, o Becte
Sereptts undot ah assuanee  plan

( 2ame vileg, )

_y doyel annual patepiurn  CHEEo SR ) ey
The ASystem of chonging natwial

psemiumy, Lan e ﬂep/aaaﬂ»byualwdﬂmw

Lorn. whwte Jdh potaehd talkeing

patumiuim  Byster :
Twwtance pelicygs P unipestm  paemiums
ngﬁwf e Toun Gf LSRN
Jqéﬂfﬂn&?»?% @é Md GU?I’LU/@{J PMMZLM (fm',‘szw?:mc[".f)
PC‘"»';:jfu-c;T;
The luvel annual pswmium method ab the
=y That yoUNg& age,rpﬁﬂfoeh can pay A Litthe
| moste dhan mwlpwt" od 1his pddidienal payment
along with nlptest - incl
Qs«bima Q0 a Jdong way
o Laridhs




mm\

e e
’gfﬁf Jovel annilal pALmULT)

ﬁéaﬂ/{)‘g
OIS plank:
Plans by gymibol used m
AN
N Single level annuaiq
Age & TesMn | praniuum prermum |
|
Tounapwi@n® | - A Pat:7] |
Pute Endowment oy | ;
amunante % T Pm] |
Endsusment ’J . |
amurane | 1: 1] Po:r] |
| |
whale ife .
muw%é ’ Ax ; Pr - |
Mathumatical et lorel anrua], priamlum undix
VarGeus plans o5t Sum aMAII LA Juuas{ ®q. |
Temporiontyy  AFUAANC :
undot Hhis plon Hh Lo apsused aged %

MMWJ‘WMWWP ot dhe
.W%WWWﬁoﬁn S

amwom}udﬂ&ewm | :
TﬁLPmeni: vm%iwl Wwaﬂgaw

G P%"l“cx‘}
j! TF!QPMWVO.L&@-&—M&MS ij

"',P‘x-‘ﬁ] 0*1;,7)] = A7



e e e VS S S A S

\ |
P?('-ﬁ] = A'x'_?ﬂ 1’1’-«’/-,('7\’. Vrallﬂ?
\r

2 , n’ AL f/),f‘.llﬂflh((;
: )
T‘.JIF)m,r‘J A : N ’ JJ; )”p
e “{ f‘J!N.(JH){. Vo L1 g 0/) it j &

b TS S P i peri T

roned
(_“'.I\U o
jreorusrn .

rﬁunfﬁ,q:imj A and, 6. 7] in Joums of cornrnudation
.# P"‘Xﬁ} E er.-M?(_'_Q
Dot

= Not ~Nain
Dot

l
Pacn] = Mx” Mo+n
Ne - Nat+n

Prﬂb[em ;

Age qag_@ﬁ_zs 2t | 28 ! 2q | AD | A %A'? “43%4;‘[‘
"""" N !%’-m bR

e — o S I — 1 . — _,.i‘..,-. -
Ly hoos .7 4| 9,90 G.019,¢7 17980 7%

S PR

I = : - s

dx 1ag| 2 3)+l 29 ‘;i)}gl ?:IA'%‘! @‘. ot | 63 |F0

' In: ;

d =y Tetal %on—ﬂ-ea( No- of . Jepth
|ameng 10,000 possons all aged g5 Lbeforn
|y et 27 aged 45,

A4
Y Zd'x
»3
- 55’*436'*' . &{}1.,1,).

o=~ 28+ 31+ 34 + 38 —)—42_-;—»7—-}—5‘2.{—5;_},63
+ 0




X .

WPM,&;Q Claim

=469 X 10000

- 4620000

Tptal

Tn dhe above g/)‘amfﬂ(
 Prssent value Of (laums Y

Same  Cuestion velue

m&t(l";t F”"’Zf CLL“-{C

considet dhe dnswies

a_{: 6'/. P,a ‘gfncf ‘ﬁ:lQ
able dn dhe geats

| o
ol P of Claims =
| Pyl 10 V:E
~ “n’ f * Mo 0%
| Age oA dy pv o jrotiice] s
Ax %XV wooe| HeaH A ;E‘E
| — 4 ‘ni‘_ﬁ “0%g
T = dac X V' X 1p,000 ]
35 10,000 28 :..;,XO“?H':'\:\\.'L‘,L‘CP | 09533
=262
3b 9,912 3) 31 \O-Sﬁgxro,ca,b 0.88%
; = 2715,838 |
3% ?,941 i" 34 BHYO-QS"’)S(;‘(!?E).;J;Q p. 8373t
I = 285382 | 3
58 | 0% . 38 *ngc.van:xao-%a; :
l f |
89 9869 | ,n [*S0mus | 4 [0
f f 42X 0.1 63 15|05 i
| | === HR b8
40 | 9.823 | 47 = 213,656 | & _ti
. j' 3 L)‘Ixo.:_‘ou';xrio,soa { ! O.’—T-O)-}g
41 ﬁ 9,780 | 53 |~ 331,115 ' :
43 9.2 , =52x 0.bkySx1p, 000 ;
e ,
| 5% = 3458)0 . 6akd
43 9,47) | = PIx0b2b9xo000 € |
=857,333 |
.4-4- 9608 %0 =b3¥0.5912 % o,oooq 0'6-‘715
| -1, 212,519
- 'XO.?’S-‘Q)’ D, 000 ?8
= 390,460 9 o=

I
|

-~ 32368)




,é%:f amount s Shased by 10, poo persOns

L ch
1 pHeMULLT (Lhaxﬁa,ﬂa{a o -ea
;Zmu;eh wonks out to |

3
- g2 3b,313

° 1 The nalioted
alsove j/)campla /
> liij{qmﬂim and davel onneld PW L

goln: L Ty
T Nedwotod P ul
’ Ji d«x :%’2& x 10,000 +» ’bw*vi’i’)‘i
x o LR L S—
= e 7 - _9-__8__ oo
: 10,000 2B 10,000 L
85 ' | ‘ = 28
| 21 | impns
3b |9471% =y i = 3"061’ K7D A
I J] q ) ‘BL} L = 5]_}..9-0:;_:;12_1”0000
3+ 9,94 ; e
| _ 28. 26
39 | 2,869 | 42 —447- ol
40 | 9,82% 471 | B s b
41 | 9,780 52 i;,-g-'x_;q
49, q,18 5% =
P oads B _ b5 14
43 | 9,6%F] 63 .
12
44 | a boB 70

o
-~



=
T L e

Pstemum
. Tn ppist yeast ;tg%al pf@nruwn meu,WQCQ
= 10,000 P
= Gy 0 ocondl Yot TS Preml,
ﬂe(,uLeoﬂ -9a72 P .
d yea Lotal PTEmUUD Aellited

= q9u) P
=3 ’Fer’}\m Year -i;ofﬂi }DW WMQ

= 9608 P

= Th Ten yeawts Iotal DAL SAecued
bkl ﬂi <§um@{7 Yeanly psueniudn 7

=10,000 + 992 + #9911 49907+ 1869 + 98275+ 9780+
‘7715;4— q6%1 +608

- 98,202P

Tetal  Claim amount = 462 X 10,000

:46,2_0,000

v+ 98303 P = Hb, 20,000

P= J—{-E),ZO,OOO
922083
p = 4b.99

E% 23.4;}
—d




”Md annual psremtum.
Aovel annuaJ Premium :(Z!K"U"j anlp &b
oilvust  at 67

o yeasts . wosthy put o RS 325"’8’5. »
Lot Jovel pnaual premiuwm L5

- __L f:D-Dé
Ve I+
o)
V= 15006
. N
- .06
- 0.9435 o

OW;&% VH’@)_( ﬁ: 1o, 000P
oy of a9T2F spcived ot

ty = (aqFepd ¥V

. L5
J}Ufﬁ C;ﬁ W HOL %@—aﬂ ) (qq.TQP) 604”83)

- quonb.58F
q“,o‘-FP

The pswsert value of 99HP

ing o ThEtL O i =(@WIP) XY 2)*
Wﬁ ‘ _ (qql_ﬂp)[tﬁ‘”—)—g

auip) (o-8878)

at

= (4
_ gguE.S-OP

The pﬂueht Vil o 790% P =
° s X

t‘ ok Lbeing of Jowth. yeot 1s = (990%P 523)

|

i

8
- (qq0%P) (0
= 8314 P



\,

| =93l P

| o Valit of 1869 P ﬂecid%
ﬂf/’wwﬁ yoot oy . (9% GBEIP) XV
Jidng o - (9gLAP) X 0.FUY
_ 1813.28F
= 7813 P

sedent olue of 982FP secived ak bej
; P o Qﬁr o QJJU,
(95, ghth yeast 1 - g2l P XV
— 1338.30 P
The Pﬂﬂsenﬁ Value ‘9{*‘?780,9 o Covied) aj/‘MnJ
of @it Saventh yewt Js-q180p XVE
=9T180P X 0. 1045
= 68‘70' o] >
. : = bgqop o
The pstosent Valuo 975 9728 p oczived. oF b
é% ETWH—@Q}* ib;t?7:>.gva,+
LRV ‘ =723 PX 0.66L5
B 61:’-61-1..25—}3
= 6LibhP |
e Prssent valy, of TP stoceived o el
% e PR = a6t Ipx v 8
= GE6F pX 0.6Q(9
= 606&.7'9})




“The P;HcsOm‘: value of b8P eceived ad being of

Tonth yeart B = TeOBP X v
_ abesp x0.53

:‘_568’1.9..[}3
= 56%8IP

Totad Oﬁpwdwmﬂ—@ﬁpxm&uw

=16818 P

L T16818 p= 32368'5

p= 32, g6,813
16813

P = po. 13

p= k2
lp=Rs- w2




